PROFESSIONAL EXAMINATION BOARD

Police Recruitment Test : 2016
7th September 2016, 02:00 PM
Topic:- Chemistry
1)
Question Stimulus :-

Naphthalene contains 93.71% carbon and 6.29% hydrogen. If its molar mass is
128 g mole'l, then its molecular formula will be - / AR A 93.71% HIad 3R
6.20% B13SI9H 8, Il AR SoaU 128 mole™! § T DT URH BHII-

* CgHg

* CioHs

* CyoHi10

o CgHg
Correct Answer :-C;gHg
2)

Question Stimulus :-

Which of the following contains highest number of atoms? / fFeafafaa d 9 o4
Halfe URHTY] TBAT aTelT 382

e 1.0g of water/ 1.0 g qrt

e 1.0 g of silver/ 1.0g o=

e 1.0 g of nitrogen/ 1.0 g T-I'IE@\TF-T

e 1.0 g of propane/ 1.0 g Ik
Correct Answer :-1.0 g of propane/ 1.0 g PILE]
3)
Question Stimulus :-

When the temperature of an ideal gas is increased from 2°C to Q‘PC, the kinetic

energy will be - / af¢ f&dt amest A9 &1 a1y 27°¢c ¥ *4 ¢ geran oA, A IS9P fas Sl -



Same/ WQ%TTT

Four times/ Eﬁ'{]:ﬁﬁ'fﬁ
Twice/ 3’]‘{1-‘-‘1?1"?[

No effect/ H’ﬁi UHTT 81 gRI

Correct Answer :-Four times/ T[T gift

4)
Question Stimulus :-

Magnetic quantum number for the valence electron sodium is - / Tqifsan &

HaISThdl I &b SAGE B TP FaicH G©TT 8-
e 0
e 1
e 2
« 7
Correct Answer :-0
5)
Question Stimulus :-

The correct order of radii is - / <A1 &1 T A 8-

* N<Be<B

F <02 <N3-

Na<Li<k

Fe3t<Fe2t<Fe4t

Correct Answer :-F- <02 <N3-

6)
Question Stimulus :-

Which of the following has largest size?/ fAfefad # 9 G99 g7 PR f5g &1 82



o Al
e AlT

A|2+

o A|3+
Correct Answer :-Al
7)
Question Stimulus :-

A Ne%v carbon-carbon bond formation is possible in- / T HTa-PTa §¢ BT I
dHTd § -

e Cannizzaro reaction/a’_-ﬁ\_rl'l?"f Srfuferar &
Friedel craft reaction/ firsd ®1ue ifufhar
Clemmensen reaction/ TR fuferar A

All the above/ IWRIad 94t

Correct Answer :-Friedel craft reaction/ frea w1ue arfufear
8)
Question Stimulus :-

Among the following the strongest acid is- /fAfefEad # yaa 3r< 8-

HC =CH

CeHe

CxHg

CH3OH

Correct Answer :-CH3;0H

9)

Question Stimulus :-



Toluene reacts with chlorine in the Presence of light to give- / UHIRI FI Sufyfa #
W9 TR @1 SifUfshar T | 15 oAl @ df ure g 8-

« Benzyl chloride/ dWTSd FARISS

« Benzoyl chloride/ S5isd TRIES
e p-chlorotoluene/ p-FRI s

e o-chlorotoluene/ o-TRI ETAZA
Correct Answer :-Benzyl chloride/ aT:I'I%?r Wﬁﬂ?ﬁ

10)

Question Stimulus :-

Which of the following is a coloured gas - / fr=fafaa & @ ©i9 49 %—
* N,O
* NO
* N,O,
* NO,
Correct Answer :-NO,

11)
Question Stimulus :-

Aqua regia is a mixture of - / Uaar Jforar fArgor 2-
e HNO3 and H,SO, / HNO3 3R H,SO,4
e HCl and HSO,4 / HCI 3R H,S0,
« HNO3 and CH3COOH / HNO3 3fik CH3COOH
« HCl and HNO3 / HCI 3{R HNO3
Correct Answer :-HCl and HNO3 / HCI 3k HNO3

12)



Question Stimulus :-

The alkaline Potassium Permanganate solution is known as- / g uefRraw
RATHe faaas wear 3-

« Molish reagent/ Aifer=T SfiHHS
« Baeyer’s reagent/ 3@ 3fHHHS
 Fehling’s solution/ ﬂ»‘%l%mﬁw
 Benedict’s solution/ afAfse faaaa
Correct Answer :-Baeyer’s reagent/ IR fiHHS
13)
Question Stimulus :-

If a neutral solution has pKw = 13.66 at °0°c then pH of the solution is- / Vew
IeriiF fadas &1 pKw = 13.66 § a1 39 fadas &1 pH ghT-

* 6.63

* 7

e 7.63

* None of these/ 3=n?r I aﬁi G
Correct Answer :-6.63

14)

Question Stimulus :-

The shape of ClO4" is- / ClO4™ Pl 3THR 2-
« Square Planer/ T Y
e Square Pyramidal/ T fRTfSha
e Tetrahedral/ a'g'waﬂu
 Trigonal Bipyramidal/ ﬁﬂ“ﬂ'ﬂﬁﬁﬂﬁl@ﬂ'ﬂ

Correct Answer :-Tetrahedral/ IS A® I



15)

Question Stimulus :-

For the reaction: Hz 712 = 2HL 8H 304 AU 316 related as - / H2 712 = 2HL gif¥fepar & forg

AH it AU & wdy g
o AH 5 AU
o AH o AU
o AH — AU

« Can't say / %8 Tgl 9&d

Correct Answer -AH - AU

16)
Question Stimulus :-

Of the following the strongest Bronsted base is - / fr=fafea o @ yea amads &R

e-

clo-
clo;
clo;
clo;

Correct Answer :-“10~

17)

Question Stimulus :-

If sulphuric acid solution has PH=2 then its molarity is - / Hﬁ '\‘IFCRIﬁﬁ? 3 faera=
&1 PH = 2 3 9t 39t Hierar grft-

e 1/100
e 1/50
e 1/2

e 1/200



Correct Answer :-1/200

18)

Question Stimulus :-
Oxidation number of P in % ion is - / P0:” 3 & P &t sifaRiieur = 2-
-3
° +7
e +5
e +3
Correct Answer :-+5

19)
Question Stimulus :-

Surface tension of Lyophillic colloids are- / &d 8t ﬁ?ﬂ%‘s’ DT Yts d-1d gidr %—

e less than water/ 9@ d U

e greater than water/ Sid T 3ferw

 equals to water/ 9d & g

e None of these/ ETI'I?[ ) H’Tﬁ G
Correct Answer :-less than water/ Sd Jd FH

20)

Question Stimulus :-

Galvanising is a process of - / Trea-twRur ufsrar g-
e Coating of Zn on Fe/ Fe IR Zn & qAUe Bt
« Coating of Al on Fe/ Fe TR Al & U &
e Coating of Fe on Zn/ Zn IR Fe & qAud Bt

« Coating of Cu on Fe/ Fe W3 Cu & QU+ &1



Correct Answer :-Coating of Zn on Fe/ Fe IR Zn & AU Bt

21)
Question Stimulus :-

Chemical formula of meta phosphoric acid is - / #eT BRGNS 3 BT NS LA

. H:PO.
HPO,

HPO;
HsPOs

Correct Answer :-HPGE

22)

Question Stimulus :-

During formation of chlorine from HCL MnO; \yorks as - / 19 F FaRE 91 W Mn0:

orf T B-

Reducing agent/3UdTd®d &l
Oxidizing agent/ TP RSD BT
Catalyst/ IARE BT

Dehydrating agent/ fASidi®oR® &1
Correct Answer :-Oxidizing agent/ AHRINPRD BT

23)

Question Stimulus :-
Hybridization in %% jon is - / X-0:" & W@ur grem 2-

o SpEIdZ
o Spd

o Spﬂ dﬂ



° dsz

3
Correct Answer :-SP°d

24)
Question Stimulus :-

On heating ammonium dichromate the gas released is - / 3MfAUH SgHAC B TH
I W & g1 arell 79 2-

Oxygen/ 3fRIte

Ammonia/ 3EIf==r

Nitrous oxide/ AIgcH ATFASS
Nitrogen/ T-IE@TF[

Correct Answer :-Nitrogen/ ATg¢Iel

25)
Question Stimulus :-

Mostly Transition elements are- / THHUT YTV fIHiRE: gl 8-
e Diamagnetic/ ﬂﬁﬂ'ﬁ?ﬁ'ﬂ
« Paramagnetic/ JgE®
e Both the above/ SR a'ﬁ"f
« None of these/ 398 | ®IS Ag!
Correct Answer :-Paramagnetic/ Glﬂﬂ'ﬁﬁﬂ‘q

26)

Question Stimulus :-

Strongest Ligand is - / UdaaH feRivs 8-
. CN-
o Br-

o OH™



([ ] P_

Correct Answer ;-8

27)
Question Stimulus :-

In which types of rea!ction the Zigler Natta catalyst is used - / foreER-A1eT SARF
5 yor 3t sfifrar ® vy giar 8-

Hydrogenation/ gsgioHiaor

Polymerization/ sgeiaxur
Oxidation/ siiadi®zur

Reduction/ 3uaa4
Correct Answer :-Polymerization/ Sgdi®Rul

28)

Question Stimulus :-

Gives white precipitate with Silver Nitrate - / fiieaR ATg¢e & 1Y Ahe FTAY T 8-

o CCl
CHCl,

. CH, = CHCl
(CH3)3C —Cl

Correct Answer :-(CHE}HC -a

29)

Question Stimulus :-

What will be obtained when phenol is distilled with " powder- / S/d BT &I 20
ot & |1y mafaa far wn @ |t e g 8-

CzH;CHO

CzH:COOH



CzHsCH;

CeHe

Correct Answer :-CGHG

30)

Question Stimulus :-

CH, CH, CH, CH,
The product formed when D'z/ react with RMgX is- / \D'J/ |
RMgX & |TY BT $IA W IdTE I i &-
. RCHOHR
. RCHOHCH;
R,CHCH,OH

. RCH,CH,0H

Correct Answer :-RCH2CHz0H

31)
Question Stimulus :-

Compound that gives cannizzaro’s reaction is - / 98 Uiffi® s HfAwRT aifufspar 3m-
« benzaldehyde/ SuifcSgEs
« acetaldehyde/ TRICTSEISS
 bromobenzene/ EICICEIR]
e propanal/ UV
Correct Answer :-benzaldehyde/ aﬁ%m-s—

32)
Question Stimulus :-

The Equivalent weight of potassium dichromate in acidic solution is- / el

SIEHIAT BT Iy feus § gaie UR § -



° 49

e 98

e 24.5

° 294
Correct Answer :-49
33)

Question Stimulus :-

Che§1ical name of semipermeable membrane is - / S U ﬁlﬁ BT IS
¥ B-

« Copper ferrocyanide/ $1UR BIRTHIAES

e Copper ferricyanide/ PR ﬁ?ﬂm

e Copper Sulphate/ PR b

« Potassium ferrocyanide/ URAH BIAAAATSS
Correct Answer :-Copper ferrocyanide/ PR ﬁm

Topic:- Physics
1)
Question Stimulus :-

Rainbow will be formed, if sun is on following angle less then above the horizontal- /

T%UdY 94T §, afe &fos & SR g = F1u7 F 9 W 3:

=]

e 20

o

e 30

o

e 40

e 60
Correct Answer :-40
2)

Question Stimulus :-



For a healthy eyes the resolving power limit will be - / W A7 Bt fave T Ty %—
o T’

Y III

o

o I
N
. )
Correct Answer :-I’

3)
Question Stimulus :-

If the diameter of an object lens is 0.1 m and wavelength of light is 6000 ;"D,
then its resolving power will be - / T& g3exil & AfUTIID BT AT 0.1 HIeX TUT YHTA

&1 aviresd 6000 * B, <t @I faves armar eeryT gifl-
e 61075 Radian; 6x 107 ERE
o 6> 107% Radian /6 x 10~¢ {204
e 6 107% Radian ;6 x 10~ BaA
o 7.32x107% Radian; 7.32 x 1076 Y39
Correct Answer :-/-32 X 107¢ Radian ; 7.32 x 107¢ {30
4)

Question Stimulus :-

If we move from surface to centre of a charged metal sphere the electric field will be -

/ HTg & MR A F 765 | Fx Bt 3R 911 W fagaa-a3-
e increased/ 9gdl ¥
o decreased/9edl @
e same as surface/ U5 & JHTE gl @
* zero at each point/ Td® fig W Y= gaT @

Correct Answer :-zero at each point/ Ta® fig W I @1 8

5)



Question Stimulus :-

Cathode rays are - / %‘!ﬂ%’ﬁﬂﬁ%'-
®* Electro magnetic waves/ﬁg'trd ﬂﬁ?ﬂ'ﬂ T
* Flow of changed particles/ STAfRIT FHON HT Yare
* Flow of high energetic electrons /<digamHt sﬁﬁ'ﬁ DI Ydlg
* Flow of Neutron/ﬂ;“l"rﬁ' CaRCI

Correct Answer :-Flow of high energetic electrons /<digamHt Eﬁﬁfﬁ-ﬁ DI Udlg

6)
Question Stimulus :-

Transistor is make from- / gTﬁRET A1 STd %—
e Conductors/ el A
 Insulators/ fagaa At A
e Doped semiconductor/ SIfUd rsaTa®! |
e Mixed Material/ 3Mqurq I
Correct Answer :-Doped semiconductor/ Sifud rgaras! 9
7)
Question Stimulus :-

Which waves are used in transmission - / g¥HAR & ST 97T SUYEH -
e Ultra violet/ WRTIT!
e Infrared rays/ 3d¥dd
* Short waves/ ﬁ&-ﬂ?l'\"?f
® Visible light/ = UPIRA
Correct Answer :-Short waves/ J&Ida<dl

8)

Question Stimulus :-



Which of the following dipole has maximum potential energy? / a9 A fow %gaa%
Rufast et sifimaw grft?

Pt

Correct Answer :-4 Y

9)
Question Stimulus :-

125 same small drops are charged with 50 volt potential each. If they formed one big
drop after mixing them, the potential of new big drop is - / @'\‘l‘qﬂqﬁ Rt §@m 125
2, UA® P 50 dice favg I mafa fpar wirar 81 9@ 5% Sisdr 9+t it §g 31 fava gm-

e 50V
e 250V
e 500V
e 1250V
Correct Answer :-1250 V

10)
Question Stimulus :-

Kirchoff firsts and second law shows the conservation respectively - / fFE® & UYH 3R
fadta foraw e wwaror gafa &

e Linear and angular momentum /& JaT 3R HIofiy Jaw &1



e Charge and Energy/ 3Ta3T 3R Sl &1

e Momentum and Energy/ T 3R St &1

¢ Momentum and linear momentum/ 3MaRT 3R LT HAT BT
Correct Answer :-Charge and Energy/ 3a%I 3R 6l &1
11)

Question Stimulus :-

If I current flows in a circular loop of radius ‘r’ then magnetic dipole moment in

equivalant to it, is - / U®% qaild qU 3 34T r 3 I I YRT Wa1fed &) 6} 8, 39 o gaaig
feyfa &1 et gim-

I

e T

[e%]

Correct Answer ;-1

12)
Question Stimulus :-

The additional pressure in liquid drop is - / %3 @ §g # 3rfafvad g9 giar 8-

=l

2T
Correct Answer :-R

13)



Question Stimulus :-

At 27°C the volume of a gas is V and pressure is P. After heating it the pressure
and volume increase two and three times respectively. What is the resultant

temperature of gas.- / 2/ IR & 19 &1 WA= V 3R I P g1 39 TRH forar St &
oI 39T 19 SRAT T4 a1 AT 81 WrdT 81 9 &7 ufvund} arg ghm-

. 152°C
600°C
324°C
1527°C

Correct Answer :-1°27°C

14)
Question Stimulus :-

If the hot body temperature increase by 50% then the value of emitted radiation

increased with - / If¢ T TH a5 & a9 § 50% gfex HR &t 914 df ST INfora fafeszor &t o
T gf ey it -

e 12.5%

e 200%

e 300%

®* 400%
Correct Answer :-400%
15)

Question Stimulus :-

The required pressure ratio in adiabatic change and isothermal change to reduce
similar volume of a gas is - / {5l A9 & maaT & JaF FH FA F G TIH IY7T IHATGHT
faftrat & smaxg® @ &1 IguTa M-

o ¥V



* 1/(""h
Correct Answer :-/
16)
Question Stimulus :-

If a = -bx is a particle motion equation where a is acceleration, * is
displacement and P js constant then oscillation time period of particle is- / T®h

gﬁﬂﬁrmmﬂwﬂ‘“ T 98T a @RI, * faxumue aur P fAadie g1 &1 &1 Slad &1d

. 2//b

2m/b

—
Correct Answer :-27/V?

17)
Question Stimulus :-

In total internal reflection the value of critical angle will be maximum when light

passes through - / Iuf 3iiaf¥® Wrada & A wifas o1 siftreaw g wafe fevor wrdt 8-
* From Glass to air/®id 9 gar d
e From Diamond to air/glX & gar §
e From Glass to water/ &9 9 Ul &
e From water to air/Ur-l & gar &

Correct Answer :-From Glass to water/ &id ¥ U=l &

18)
Question Stimulus :-

Circular Motion is - / gitg 7Ifa gl 3-

e One dimensional / T& faHig



e Two Dimensional/ fgfadia
e Three Dimensional/ fafowig
e None of these/%?’l?f I Eﬁ'sc L)

Correct Answer :-Two Dimensional/ fgfaa

19)
Question Stimulus :-

Light year is a unit of - / UPHTY a4 W%—
* Distance/ gil &1
e Time/ HY &I
* Light Energy/ U&TRI Sl &I
® Mass/ SHHATT Bl
Correct Answer :-Distance/ gl &I

20)
Question Stimulus :-

If 2 Amp current flows in a coil of 50 mH then storage energy in joule will be- / 50 mH

®1 TP pUsal # 2 TRER B URT yared 81 R @ # Tfud SHolf gifl-
° 1
¢ 0.1
e 0.05
¢ 05
Correct Answer :-0.1

21)

Question Stimulus :-

A concave mirror which focal length is f. 1f an object of length 6 cm put away at

principal axis on 4f, then the length of its image will be- / Uﬁ?%gﬁf & U 3ddd
U & YT & W 4f BT g W 6 A Tl axg ! 81 39 wlafed o @98 § -

e 2cm/ 2 It



e 4cm/ 4 9+t
e 12cm/ 12 9+
e 18 cm/18 I#t

Correct Answer :-2 cm/ 2 9Ht

22)
Question Stimulus :-

As well as the speed of fan increase same time current value will be- / S-S U@ &1

e Sgelt 7, -l UIRT-

* increase/ Fadl 3

e decrease/ ¥edl §

e remains constant/ dg! Y&t

* increase, upto maximum speed/ 3f¥® gl §, 1A & 3ffUPdH g1 dP
Correct Answer :-decrease/ Hedt 3

23)

Question Stimulus :-
The resistance of ideal voltmeteris - / SIE‘\’fEﬁR'FﬂET DI uﬁ'ﬁusﬁm %—
® Zero/ ™
e Very less /3ifd @g
* Very high/ 3ifd 98¢
e Infinite/ 3
Correct Answer :-Infinite/ 3[w
24)

Question Stimulus :-

If only 2% of main current flows in a galvano meter (with G resistance) then the value

of shunt resistance will be - / af¢ G UfRIY & YRTATH & T&T YRT B Fad 2% YRT yared
$e-1 g1 df urd ufeRiYy ST 91 ghm-

e G/50



°* G/49
* 50G
* 49G
Correct Answer :-G/49
25)
Question Stimulus :-
Colour of light may be find by- / Y&T=I &1 31 §Td fHaT SITaT 8-
° Velocity/aﬂﬁ

e Amplitude/ 3MAH A

e Frequencey/ Mg I

° Polarisation/ﬂ?ﬂw » fRAfa I
Correct Answer :-Frequencey/ 3gfxi @
26)
Question Stimulus :-

Mass of photon in motion- / Tfd @R & WielH $T SaHT &-

hw

=
r

b

hw

® Zero/ W
hy
Correct Answer :-c”
27)
Question Stimulus :-

Which of the following in not electro magnetic wave - / frefafaa 7 @ +19 d@t ﬁ'g','q'd



o Y ry/Y— {0l
x- ray/ x- fpof

e Sound waves/ @f- a3

e Radio waves/ f&al a3t
Correct Answer :-Sound waves/ @ a3
28)

Question Stimulus :-

Spectrometer is mainly used to measure - / WaEHIeI HT BT U A 39S ATYT T ITFT
fopar e 3-

° Wavelenth/?-R'TI%?ﬁ

° Intensity/?ﬁﬁ?ﬂ

* Polarization/Ydul

° Scattering/ﬁaﬁ?
Correct Answer :-Wavelenth/d3ie¢ed
29)
Question Stimulus :-

A prism has an angle of > and for red and violet colour its refraction are 1.5 and 1.6
respectively. Angular dispersion of prism is - / T®h foresT &1 BT SD%I e 3R S T P ol
P UTAID HURM: 1.5 3R 1.6 81 ey gR1 3= wivfta fagur g-

e 0.17
Correct Answer :-0.5

30)

Question Stimulus :-



Doppler Effect concern with - / ST®R UHTd Hafid 8-
* Frequency/ anﬁr
e Reflection/ WRTdad
e Intensity/ Udddl

* None of these/ ?Flﬁ J ?:hT&" &l

Correct Answer :-Frequency/ 3TgfI

31)
Question Stimulus :-

The momentum of heaviour object A is equal to lighter object B, then - / T& YR} fuvs A
TYUT gAY gob fUUs B & AT JHH § -

* Velocity of Bis less than A / B &I T A" FH @TIT
e Velocity of B is greater than A/ B &T a7 A ¥ 3ift/& g m
e Both have same velocity/ @l & a7 JHE ghl
e Nothing to say/ $ gl Hgl AT J&Hdl
Correct Answer :-Velocity of B is greater than A/ B &T a1 A 9 3if/& g m

32)
Question Stimulus :-

The orbital speed of a satellite revolve very near to earth surface is - / q&ﬁ & 3ffq Tfia
UREHT T aTA SUUE B & e gl 8-

° ‘-’=\-"'?=R
e V=28R
° "":\-'ﬁ
o v=gR

_ =
Correct Answer :-' — V&R

33)



Question Stimulus :-

Our sky looks like blue at the time of sunrise and sunset because in this position the
scattering will be - / Yuieg 3R Guiw ¥ 0T arerw Hrar i@ a1 2, Ffe 39 fRfY & gl
gt 8-

* Minimum/<JdH

° Maximum/\"rlﬁlﬁ'l:r

e Non regular/3if=afia

e None of these/ T8 & ®I3 gl

Correct Answer :-Minimum /<J1dH

Topic:- Maths
1)
Question Stimulus :-

3+2i
3-2i

Correct Answer :-1
2)
Question Stimulus :-

If 2*+83x+1 3ra jn A.P. Then the value of * will be - / gf¢ 25*+83x+1 gy gofi
A g, a9 * &1 |9 ghm-



Correct Answer :-5

3)
Question Stimulus :-

Two numbers differ by 3 and their product is 504. The numbers are- / o TS} BT 3R 3 qUT
T UFHH 504 &, 3 YAV B--

e 18,6 21

e 19,22

° 20,23

e 21,24
Correct Answer :-21, 24
4)
Question Stimulus :-

If 12p_ =1320 then * =7 / afe 12p, =1320, @@ " =~

Correct Answer :-3

5)

Question Stimulus :-
x  x x  x x®
}r:1+—l+:+—l+---m — :1+—|+:+—|+---DG _
If v 2w T then®*=T sl T T Ty 2T e Y qaE=?
o lOZ.¥
1
lc:g,!;

e¥

E_._Y



Correct Answer :-98=7

6)

Question Stimulus :-

1 0 0 1 0 0
A=lo 1 o ] A=lo 1 o
If a b —1 then® =7 / 'CI'% a b -1 gg& =?

e Unit Matrix/ S®T3 3ITHE
® Null Matrix/ [ 3TYg

¢ A
Correct Answer :-Unit Matrix/ S®TS 3TE
7)

Question Stimulus :-

If sin@+cos8 = 1,thensin 8 cos 8 =7 / -q-ﬁ- sin@+cos8 = 1,aa-sinﬂcasﬂ =?

e 12
Correct Answer :-0
8)
Question Stimulus :-
In MABC jpa=3b=4c=5 ypapn sin2B=7 ; gfy AABC fa=3b=4c=5 gg sin 2B =?
e 4/5
e 3/20
e 24/25
e 1/50



Correct Answer :-24/25

9)

Question Stimulus :-

. 11 N .
gin 1E+51n 1 =sin"1x

[ 7% ]
[ RN

=?

= sin"1x, 9 sin~11 4 sin—t
If then *=7 / afe 3

WV5+442
Correct Answer :- °

10)
Question Stimulus :-

If thljee points (p+1, 1), (2p+1, 3) and (2p+2, 2p) are collinear, then p=?/ gfe
i fdg (p+1, 1), (2p+1, 3) 3R (2p+2, 2p) INRT §, 99 p=?

Correct Answer :-2

11)

Question Stimulus :-

A line passes through the point 22 and is perpendicular to the line #+y =3 jts

y-intercept is - / U T ¥ foig 22 @ qordt & qur @ V=3 & qrad €, Sual y
— 3:TUS HT §?

® 1/3



° 2/3

° 4/3
Correct Answer :-4/3
12)

Question Stimulus :-

Centre of circle ¥~ &) +G -G -y) =04, gq
x—x)x—x)+y -yl —yz)=0 WW%—

(Xl +¥1 % +}’2)
2 ! 2

H ¥ Xz —l‘r’:)
° 2 ! 2

(Kl ek +}’2)
2 ! 2

H T Ea }’1—}’:)
° 2 "2

(Xl + X Y1+Y:)
Correct Answer :-* 2 = 2

13)

Question Stimulus :-

The length of latusrectum of the ellipse % 4 =1ljs - ; fifga ¥ + ¥ =1%
TIfids 3t @918 8-

e 3/2
° 873
° 4/9
° 8/9

Correct Answer :-4/9

14)

Question Stimulus :-



%BY are the angles which a line makes with positive direction of coordinate
axes, then sin” & 4 sin” B+ sin® v =7 ; gfy &BY fref} wver Y@m gRT fAdwmiah ¥ w-ree fezm &
10 T BT & a9 sin @ 4 sin® B+ sin? y =7

Correct Answer :-2

15)

Question Stimulus :-

b3

-3 y—2

is /WRA¥ET = 1 ‘i%-

e parallel to x-axis/ x-3{& & JHTATR

x—3 V-
3

_ __z—i
1 0

The straight line

e parallel to y-axis/ y-3{& & JHTATR
* parallel to z-axis/ z-3{&f & AR
* perpendicular to z-axis/ z-3{& %m
Correct Answer :-perpendicular to z-axis/ z-3& & qHddq

16)

Question Stimulus :-

If the planes * T 2V T ¥2=0 gng 2%+ 7~ 22=0 _ 5.6 at right angles, then the value of

kis/ afgquaa <t ¥t k=0 g Z+y- 22=0 _ R T9aq §, A9k FTAF @ -
® -12
e 12
° 2
¢ 2
Correct Answer :-2

17)



Question Stimulus :-

FED2+ @ D2+ ER) =2

* None of these/ '&"-‘-I'ﬁ J aﬁi H’eﬂ

-

Correct Answer ;-

18)

Question Stimulus :-
G—@x@+@=?
2{3 X ﬁ}

_
axh

az_bz

* None of these/ Eﬁ'ﬁ J ?ﬁi L)

Correct Answer :-2(3 % b)

19)
Question Stimulus :-

L(xk) +i(kxi) + k(ixf) =2

Correct Answer :-3

20)



Question Stimulus :-

1+=x 2x 1+=x 2x
If flx) =log 1—:»:], then f[1+xz] =7 / afe fx) = log 1—;\:], aaf 1+xz] =
° [f{x}]z
° [ﬂ:x}]a
o 2f(x)
o 3f(x}

Correct Answer :-21(9

21)

Question Stimulus :-

= Tlog (log)] =7

X

logx

log=

[ ] X

o (xlogx)?

e None of these/ $9H | ®I5 gl

-1
Correct Answer :-x10g2%)

22)

Question Stimulus :-

dy

If ¥ = sin (25111_1}{}1 then E ?

dy
? / 'Clﬁ y = sin {2sin~1x), qg e




Correct Answer :-V1—x’
23)
Question Stimulus :-

. ] 93 912 _ 9.
The minimum value of the function ¥ = 2¥° — 21x"+ 36x— 20 o _ / e

* -128
® -126
* -120

®* None of these/ sﬂ'ﬁ J ﬁ'{' el

Correct Answer :--128

24)

Question Stimulus :-

1
"rx':lc\gx}:dx =?

log x
loglogx +c
—loglog=z +¢

1

log =

Correct Answer :-

25)

Question Stimulus :-

[tan lxdx =7



1 -+
xtan lx + Elug (1+x%)+c

1 ,
xtan"lx — Elng (1+x%)+¢c

o (x—1)tan™x+ ¢

xtan lx—log(1+x%)+c

1 ,
xtan lx— —log(1+x%) +c
Correct Answer :- 2

26)

Question Stimulus :-

J‘ dx o
(x+1D(x+2)

1 x+2
° Dgx+1

+c

log(x+1)+log(x+2) +c

1 x+1
° Dgx+2

None of these/3TH ¥ IS &I

+c

x+1
log +c
Correct Answer :- 12

27)

Question Stimulus :-

rald

f
COS X
A dx =7

-L 4sin x++4/cosx

e 0

* None of these/ 'S-'-I'ﬁ I iﬁi ﬂﬁ



NS
Correct Answer :-4

28)
Question Stimulus :-

dy dy
- x—+3y=x. x—+3y=x
Solution of * ax " 7 is-/ dx ¥ Pl gd %—

5t
x3y+E+c =0

xy=—+c

x3 +X—4—{]
° y 4

None of these/ §9H | $I§ T8l

K4
xly=—+c
Correct Answer :-

29)
Question Stimulus :-

d"‘y_ | dy

The order and degree of the differential equation EER dx) are / 3ddhd-d

o e (®) .
gty &2 VT e it $ife Td U ©-

Correct Answer :-2,2

30)
Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting the sum 2or8or12is- / al

T} P TP 1Y b ST W G 2 T 8 T 12 YT P D UTfIPpdT 8-



e 5/18
e 7/36
e 7/18
e 5/36
Correct Answer :-7/36

31)
Question Stimulus :-

A coin tossed 4 times. The probability of getting atleast one head is - / e faer 4 IR
IV ATdT 8, P A HH TH IR Y U H B uridrepar 8-

e 1/16
e 2/16
* 14/16
* 15/16
Correct Answer :-15/16

32)

Question Stimulus :-

If coefficient of correlation between the variables * and ¥ is zero, then - / gfe Eij

* 3R Y & du FgEwY UNie T4 €, 99 -
« *and Y have no relation/* 3R ¥ & 9 IS Hdy 81 &
¥ decreases as * increases/ Y Ucdl g W * dedl g
« ¥ increases as * increases/ ¥ 9¢dl g 99 * 9¢dT 8
e None of these/ §H q ®I5 gl
Correct Answer :-* and ¥ have no relation/* 3R ¥ & §i9 &I day "¢ &

33)

Question Stimulus :-



If correlation coefficient be zero, then the lines of regression will be - / uﬁmum

[ 8, a9 FHTHG0r g g
e Parallel to axes/3i& & AT
e Perpendicular to axes / 3{&f & qHddq
e Inclined at any angle with axes /3i&ff & f&d! oft ®ioT W gﬂﬁ §§
 Coincident /¥Urcdl
Correct Answer :-Parallel to axes/3/&l & TR

34)

Question Stimulus :-

xping

j flx)dx = g[(}"u +yu )+ Ay tyz et yu) H 20yt ¥+ o+ vyl

The formula * is known
as- /A
xptng
h
j flx)dx = 3 [(vo +¥u) + 4y +ys+ -+ yp_1) + 2(yz + ¥a + -+ ¥yl
=)

FHgardl o-

1 rd

« Simpson’s ) rule/ R &1 G fraw

Eth

3
« Simpson'’s ) rule/ R &1 . From
* Trapezoidal Rule/ JHdHW oo

®* None of these /Eﬁﬁﬁiqﬁ

1y, rd 1
3

Correct Answer :-Simpson’s G) rule/Rgaq &1 G) g



